Stigtomta BK

Paul Jones 3:3 HCP 2022-11-14

SCRATCH

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poang % Namn MID Klubb
1 11 152.0 69.09 Zenitha Wiberg - Peter Rosén 57309 47927 Stigtomta BK
2 3 134.0 60.91 Thorsten Johansson - Stig Sjoberg 30294 1419  Stigtomta BK
3 8 126.0 57.27 Elisabet Johansson - Elisabeth Malmberg 27416 38704 Stigtomta BK
4 10 120.0 54.55 Sven Andersson - Ingegard Andersson 6682 2813 BK Sang, Oxeldsund - Stigtomta BK
5 6 118.0 53.64 Susanne Hammar - Beryl Johnsson 1253 62315 Stigtomta BK - BK Sang, Oxelésund
6 9 106.0 48.18 Bo Ytterstrom - Sara Haglind 13000 57308 BK Sang, Oxeldsund - Stigtomta BK
7 4 103.0 46.82 Inger Eriksson - Anna-Maj Saaf 78431 26954 Nykopings BS - Kolmardens BK
8 12 102.0 46.36 Benny Lindholm - Anders Gustafsson 31297 90866 Stigtomta BK
9 5 100.0 45.45 Ove Bjorn - Peter Engstrand 1495 63361 Stigtomta BK
10 1 98.0 4455 Renée Sundstrom - Dan Sundstrom 8514 12742 Stigtomta BK
11 2 94.0 42.73  Kent Lindstrdm - Gunilla Petterson 201512 43612 Stigtomta BK
12 7 67.0 30.45 Karin Ekstrom - Hagbert Svensson 44095 32011 Stigtomta BK
1 4 K72 Basta kontrakt 2 & KKn952 Basta kontrakt 3 492 Basta kontrakt
Nord vK7642 4¢ O =-130 Ost v74 44 S =620 Syd vD10632 5¢ SD-2-300
Ingen + 10 NS + K6 ov ¢ 7654
#10643 & ¢ v & NT #Kn764 & ¢ v & NT #63 & ¢ v & NT
4DKn 453 N3 3583 +103 » E864 N 106 7 108 4103 4KD87654 N5 9 9 3 7
vED95 v108 S 33583 vD1096 vK32 S 105 7 108 vKn987 v4 S59937
¢ K543 ¢ EDKn6 O 10107 5 7 ¢+ Kn5432 ¢ E107 0276 34 ¢+ K8 ¢ Kn9 O 8 3 3 106
D75 #EKKn98 V 10107 5 7 «D3 #0952 V27¢634 #K9852 #ED7 vV 8 3 3 106
4 E109864 4 D7 & EKn
v Kn3 v EKn85 v EK5
49872 + D98 + ED1032
*2 #EK108 #Kn104
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 9 5¢ O-5 *2 250 100 0.0|10 9 14RDO-3 &K 1000 10.0 0.0|11 10 4¢ S= aT 130 10.0 0.0
6 3 3NO-2 48 100 70 3.0 5 7 3NS+1 .7 630 70 30|12 2 4v N-1 oK -50 8.0 20
12 1 4v V-2 a2 100 70 30| 6 3 3NS+1 +3 630 70 30| 5 1 5¢8S-3 aT -150 6.0 4.0
2 8 2NV-1 a2 50 40 60| 2 8 3NS= v6 600 30 70| 6 8 24 O+2 vA -170 40 6.0
5 7 3NV+1 *T -430 20 8.0| 4 11 3NS= 2 600 30 70| 3 9 24 0+3 vA 200 2.0 8.0
4 11 3NV +2 3 -460 0.0 10.0(12 1 24 S+3 *4 200 0.0 10.0| 7 4 44DO= vA -790 0.0 10.0
4 +E10 Bésta kontrakt 5  EKKn3 Bésta kontrakt 6 & E986 Bésta kontrakt
Vast v 108752 4¢ V =-130 Nord v 382 3¢ OD-1100 Ost v EKn9 ANT S =430
Alla +3 NS + Kn105 ov + EKn5
»K10754 & ¢ v & NT #EKN73 & ¢ v & NT #KKn2 & ¢ v & NT
4Kn753 &K N4 3564 408 « D106 N9 3687 D74 4Kn53 N 109 101010
vK4 v ED96 S 43564 vD vEKKn653 S 9 3 6 8 7 vD652 v104 S 108 101010
¢+ DKn76 ¢ E952 09 108 7 8 ¢ ED986432 +7 048746 4963 ¢D10872 034333
#DKn6 #E983 vV 9 108 7 8 #85 D94 V48746 D84 &E93 V35333
4 D98642 7542 & K102
v Kn3 v 10974 v K873
+ K1084 +K + K4
*2 #K1062 #10765
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 10 4v O -4 *2 400 100 00| 6 2 4¢ V-2 oK 100 100 00| 8 5 3NN+2 2 460 10.0 0.0
5 1 3NV-1 *5 100 70 30| 4 10 4¢ V-1 & K 50 50 50| 4 10 3NS+1 *7 430 70 3.0
12 2 3NV-1 +3 100 70 30| 7 9 4eV- s A 50 50 50| 6 2 3NN+1 *7 430 70 3.0
3 9 INV= oA 90 40 60| 8 5 4¢V-1 oK 50 50 50| 1 11 3NS= a4 400 3.0 7.0
6 8 3NO+1 *4 -630 10 9.0(12 3 3v0O-1 a7 50 50 50|12 3 3NS= v2 400 3.0 7.0
7 4 3NO+1 *4 -630 10 9.0| 1 11 4e V= oK -130 0.0 100| 7 9 3NS-1 .7 -50 0.0 10.0
7 & Kn2 Bésta kontrakt 8 452 Bésta kontrakt 9 4 D2 Bésta kontrakt
Syd v Kn5 4¢ S =130 Vast v 953 3# ND-1-100 Nord vKn4 3NT N =400
Alla + EKKn865 Ingen +43 ov ¢+ ED432
#EKn8 & ¢ v & NT #EDKn532 & ¢ v & NT #EKn64 & ¢ v & NT
4 E876 & KD9 N 3 106 7 7 4 Kn843 4K109 N847505 4 KKn974 4865 N9 9969
vE983 v762 S 3 106 7 7 v742 v KDKn S 84755 v10652 vE3 S9996 9
¢ 74 +9 09 356 4 ¢ E1098 ¢ KD652 O586 86 + K106 ¢ Kn75 O4 436 3
#732 #KD10954 V 9 3 5 6 4 «107 K4 V586 86 &D #K8753 V 44464
410543 4 ED76 ~E103
vKD104 vE1086 v KD987
+D1032 ¢+ Kn7 +98
»6 986 #1092
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang
2 1 3NN= «Q 600 10.0 0.0|12 4 4¢ O-2 9 100 100 00| 3 2 3NS+1 LY 430 10.0 0.0
5 11 3¢ N+1 49 130 40 60| 5 11 4¢ O-1 *3 50 80 20| 6 1 3NS= a7 400 8.0 20
7 3 4¢ N= oK 130 40 60| 2 1 44N-2 vQ -100 6.0 4.0(10 7 2NS+2 a7 180 6.0 4.0
8 10 1¢ N+3 *K 130 40 6.0 8 10 3¢ O= *6 -110 30 7.0 8 4 2NS+1 49 150 3.0 7.0
9 6 2¢ N+2 &K 130 40 60 9 6 3¢ 0= *9 -110 3.0 7.0(12 5 2NS+1 a4 150 30 7.0
12 4 3¢ N+1 *K 130 40 6.0 7 3 INO+2 46 -150 0.0 10.0| 9 11 2NS= *Q 120 0.0 10.0
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10 ~E6 Basta kontrakt 11 410952 Basta kontrakt 12 4 EK76 Basta kontrakt
Ost vED8 2NT S =120 Syd v K82 2¢ S =90 Vast v D7 3NTV =-400
Alla + KDKn102 Ingen + 104 NS *74
#Kn9o8 & ¢ v & NT #KDKn9 & ¢ v & NT #K10432 & ¢ v & NT
4107432 «KDKn5 N8 8 85 8 4 E843 4Kn76 N8 8767 4984  4D532 N7 3544
v K104 vKn75 S 88858 vD964 vKnl07 S88767 vK86  vE43 S7 3544
¢ 64 4973 O4 4 48 4 +Kn75 ¢ KD8 O4566 6 ¢EK5 ¢DKn1083 O 6 107 9 9
D104  &EK2 V44485 *42 #E753 V456 6 6 #EDG5 #9 vV 6 107 9 9
» 98 «KD «Knl0
v 9632 v E53 v Kn10952
+ E85 ¢ E9632 4962
#7653 #1086 *Kn87
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 5 3vS= a2 140 100 00| 9 5 INS+1 vQ 120 80 20| 9 5 3v0O-2 ] 100 10.0 0.0
6 1 340-1 *A 100 70 3.0(11 8 INS+1 v4 120 80 2012 6 2¢ O+1 & K -110 8.0 2.0
8 4 340-1 *A 100 70 30|12 6 INS+1 *4 120 80 20| 4 3 2NO+1 3 -150 50 5.0
10 7 INN= a5 90 40 60| 7 2 INS= v4 90 30 7.0(10 1 INV+2 »3 -150 5.0 5.0
3 2 3¢N-1 & K -100 20 80|10 1 INS= v4 90 30 70| 7 2 3NV= 46 -400 1.0 9.0
9 11 24 O= 8 -110 00 100| 4 3 2¢ S-1 *4 -50 0.0 10011 8 3NV= »3 -400 1.0 9.0
13 485 Basta kontrakt 14 « KDKn54 Basta kontrakt 15 410763 Basta kontrakt
Nord vK74 5& N =600 Ost v KD642 54 S =450 Syd v KKn876 34 S =140
Alla + EK87 Ingen +D NS .-
#Kn876 & ¢ v & NT »76 & ¢ v & NT #K984 & ¢ v & NT
4« EKn2 4K76 N 118 9 9 9 4« E83 4762 N7 6 11117 4942 4 K5 N6 5896
v1032 v D865 S 118 9 9 9 v 109 v 83 S 7 6 11117 v D543 vE9 S6 5896
¢ Kn532 ¢ D1064 025434 ¢ KKn1092 ¢ E653 057226 ¢+ E8 ¢KKn10962 O 6 7 5 4 6
#432 #105 V25434 #1083 #KKn52 V57226 #EKn107 #D32 V67546
«D10943 » 109 4 EDKn8
v EKn9 v EKn75 v 102
+9 + 874 + D7543
#EKD9 #ED9%4 #65
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 4 3NN+1 v7 630 90 10| 1 9 4vN+1 v8 450 50 5011 7 2v N+1 +9 140 10.0 0.0
11 2 3NN+1 *4 630 90 10| 5 4 4v N+l *2 450 50 50 9 4 3¢0-2 vT 100 8.0 20
10 6 3NN= *4 600 50 50| 8 3 4vN+1 +3 450 50 501 3 30-1 vT 50 50 5.0
12 7 3NN= +5 600 50 50(10 6 4vy N+1 v3 450 50 50 6 5 2¢0-1 *6 50 50 5.0
8 3 2NS+1 v3 150 20 80|11 2 4v N+1 v8 450 50 5012 8 2¢ O= *6 90 2.0 80
1 9 2&#S+2 *2 130 0.0 10012 7 4v N+1 *A 450 50 50| 2 10 2¢ O+1 *6 -110 0.0 10.0
16 «E10 Bésta kontrakt 17 & Kn6 Bésta kontrakt 18 & KKn8 Bésta kontrakt
Vast v D105 ANT V =-630 Nord v E954 34 O =-140 Ost v KKn102 3NT O =-400
oV + E10432 Ingen +84 NS + Kn965
#1073 & ¢ v & NT #D9642 & ¢ v & NT #65 & ¢ v & NT
498765 «KD N2 3743 + D109 & E8432 N8 4845 4 D7 4106542 N3 4534
vE v KKn2 S 23743 v 86 v D102 S 84845 v ED85 v76 S345 44
¢+KD9 ¢ Kn875 O 9 106 9 10 ¢+ E10953 ¢ D76 059597 ¢+ KD ¢+ E1084 098899
#E852 &#KDKnN9 vV 9 106 9 10 *K75 #EKn V59597 #EDKNn109 #K3 V99899
& Kn432 4 K75 « E93
v 987643 v KKn73 v 943
+6 4 KKn2 732
*64 #1083 #8742
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
11 7 44 V-1 ¢ A 100 100 0.0( 3 11 44 O-2 v3 100 100 00| 1 8 3NV= +5 400 9.0 1.0
9 4 3NO= v3 600 80 20| 1 8 240-1 »3 50 80 20|10 5 3NV= +5 400 9.0 1.0
1 3 3NO+1 v6 -630 40 6.0({10 5 INV= *4 90 6.0 40| 2 4 3NV+1 +5 430 30 7.0
2 10 3NO+1 +6 630 40 60| 2 4 340= v7 -140 40 6.0 3 11 3NV +1 v2 430 30 7.0
12 8 3NO+1 v9 630 40 60| 7 6 INV+4 *2 -210 1.0 90| 7 6 3NV+1 v2 430 30 7.0
6 5 3NO+2 v9 -660 0.0 10.0(12 9 INV+4 *4 -210 1.0 9.0|12 9 3NV+1 +5 430 30 7.0
19 4 Kn106432 Bésta kontrakt 20 & K72 Bésta kontrakt 21 4108652 Bésta kontrakt
Syd vE8 2v S =110 Vast v KKn1097 3+ V =-110 Nord v 854 ANT O =-430
oV *7 Alla 4652 NS + 1087
#ED32 & ¢ v & NT *K6 & ¢ v & NT #108 & ¢ v & NT
+E75 « D98 N56 775 2Knl0965 «E N4 7876 « EKN9743 4 KD N6 27 32
vKD107 ¥5 S56876 vED4 v 85 S47876 v- v EK72 S6 2732
¢ EK ¢ D9642 087557 +D3 ¢ Kn1084 095465 + D95 ¢ KKn632 O 7 115 1010
210976 #Kn854 V87557 #E52 #D109873 V 9 5 5 6 6 #K943 &Kn7 V 7 105 1010
s K D843 .-
v Kn96432 v 632 v DKn10963
+ Kn10853 ¢ EK97 +E4
&K #Kn4 #ED652
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang
2 9 24 N= v5 110 90 10| 8 7 24V-2 +6 200 100 0.0 3 10 64 V-2 v8 100 9.0 1.0
3 5 24 N= v5 110 90 10| 2 9 3vN= s A 140 70 30| 4 6 44 V-2 v8 100 9.0 1.0
4 1 INV-1 a4 100 60 40| 3 5 2¢vN+1 s A 140 70 30| 1 7 44V-1 v4 50 50 5.0
8 7 24 N-1 v5 50 2.0 8012 10 2v N= s A 110 40 60 5 2 3NO-1 vQ 50 50 5.0
11 6 3vS-1 &T 50 20 80| 4 1 INO-1 +K 100 10 9.0|12 11 3¢ O+1 vQ -130 20 8.0
12 10 3v S-1 *A 50 20 8011 6 INO-1 + K 100 1.0 9.0 9 8 3NO= vQ -400 0.0 10.0
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